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(= the LAST PAGE of this exam paper)
Information you give / check in the questions DO NOT count as valid answers!

· All quizzes and tests are closed book exams, so no material is permitted except for one formula sheet per person (ONE page 8 1/2 X 11 with own selection of formula, no text). All formula sheets must be turned in. 
Also a calculator is permitted   ---  mobile phones are strictly forbidden!!
· The exam paper hase to remain stapled – please do not use any own paper but use the rear pages of this exam for your calculation.
Fill your name on the first and last page. 
I Multiple Choice Questions 
(only one answer is correct) (1 point each  30 points)
	1.
	A study of some randomly selected units within a population is a 

a. unbiased sample

b census

c experiment
d biased sample


	a

	2.
	If an element of a sample is chosen for study putting it back before the next draw we call it

a. sampling without replacement

b a census

c a sample

d sampling with replacement

	d

	3.
	If the students in one class are used as a sample to represent the university student body 

a the sample would be representative of the population

b the sample would not be representative of the population 

c the sample would be with replacement
d a and c


	b

	4.
	To find the interquartile range

a. subtract Q3 from  Q1 

b. subtract Q1 from  Q2 

c. subtract Q2 from  Q3 

d. Find the difference between Q3 and Q1 


	d

	5.
	To find the 5th percentile you would
a. divide 5 by 100, multiple by n.

b. Multiple n * 5, then divide by 100 to find the number at this position in the data.
c. divide 95 by 100, multiple by n 
d. multiple 100 by 5, divide by n to find the number at this position in the data.

	b

	6.
	Given the following data find Q3.

1  1.5  2  2  2.5  3  3.4  4.1  4.2  4.3  5  5.7  5.8  5.9  6  6.7  6.9  7  7.8  8.2

a.  6
b.  15
c.  6.7
d.  5.9

	a

	7.
	Given  the  following  data  find  the  median  (use  Q2  for  this).

1  1.5  2  2  2.5  3  3.4  4.1  4.2  4.3  5  5.7  5.8  5.9  6  6.7  6.9  7  7.8  8.2

a.  5
b.  10
c.  4.2
d.  4.3

	d

	8.
	Given  the  following  data  find  the  IQR.

1  1.5  2  2  2.5  3  3.4  4.1  4.2  4.3  5  5.7  5.8  5.9  6  6.7  6.9  7  7.8  8.2

a.  3.2

b.  5
c.  4.5
d.  3.5

	d

	9.
	To  find  the  range
a.  find  the  number  that  appears  most  often  in  the  data.

b.  subtract  the  lowest  number  from  the  highest  number  in  the  data.

c.  find  the  middlemost  number  in  the  ordered  data

d.  sort  all  observations  and  find  the  one  in  the  middle.


	b

	10.
	The  MAD is  a  measure  of

a.  dispersion  of  the  data

b.  density  of  the  variance
c.  central  tendency  of  the  data  
d.  all  of  the  above


	a

	11.
	An example for a discrete variable is: 
a.  temperature for coffee drinks in a coffee shop
b.  your weight in pound (with 1 decimal point)
c.  the number of keys on a computer keyboard
d.  travel time from another town to Wilmington (in minutes and seconds).

	c

	12.
	An example for a continuous variable is: 

a.  your letter grade in quiz 1

b.  your body height (only in full feet)

c.  the “Deal” or “No Deal” choice on the TV show
d.  your percentage grade in quiz 1.

	d

	13.
	The mean, variance, and Standard Deviation are all population ...
a.  samples
b.  parameters 
c.  elements
d.  statistics.

	b

	14.
	The letter grades (A thru F) you can achieve in this test are
a.  quantitative variables
b.  a time series
c.  secondary data
d.  cross-sectional data. 

	d

	15.
	The mean of all letter grades (A thru F) of a class can be reported as

a.  arithmetic mean

b.  range

c.  median

d.  MAD. 


	c

	16.
	The mean of all letter grades (A thru F) of a class can not be reported as
a.  arithmetic mean
b.  range
c.  median
d.  MAD. 

	b

	17.
	If you wanted to study data by quartile groupings you would use a

a. scatter plot

b. box plot 

c. pie chart

d. stem and leaf display


	b

	18.
	Data collection can not be done via
a. written surveys
b. observation
c. calculation
d. experimen

	c

	19.
	Which of the following is an example of a quantitative variable?

a. whether a student has a car
b. the model of the car

c. the birth dates for all persons in a room

d. the number of students in a room.

	d

	20.
	“Inferential statistics” is used to
a. describe samples
b. visualize time series
c. derive information about the population from the sample
d. derive information about the sample from the population.

	c

	21.
	A random variable ...
a. can take on any outcomes
b. takes on certain values described by its distribution
c. will only take on the outcomes you want it to take
d. consist only of predefined values. 

	b

	22.
	The Probability of an event = 
a. No. of outcomes in the event  /  No. of outcomes in sample space
b. No. of outcomes in sample space  /  No. of outcomes in the event
c. No. of outcomes in sample space  /  No. of statistics in the event
d. No. of frequencies of the event  /  No. of outcomes in sample space

	a

	23.
	You can’t describe a sample space by a 
a. venn diagram
b. tree diagram 
c. pie chart
d. enumeration

	c

	24.
	For a single toss of a pair of dice, the probability of the sum being 4 is
a. 4/12
b. 4/36
c. 3/12
d. 3/36

	d

	25.
	When tossing a coin 4 times, the probability of 0 heads is
a. 0 (this is impossible)
b. 1/16
c. 4/16
d. 4 * 1/2

	b

	26.
	For any two events E1, E2; the probability that one or the other occurs is
a. P{E1 or E2} = P{E1} + P{E2}
b. P{E1 or E2} = P{E1} + P{E2} + Pr{E1 & E2}
c. P{E1 or E2} = P{E1} + P{E2} – Pr{E1 & E2}
d. P{E1 or E2} = P{E1} * P{E2} 

	c

	27.
	Each probability has to fulfil the condition: 
a. 0.0 ( P{E} < 1.0
b. 0.0 > P{E} < 1.0
c. 0.0 ( P{E} ( 1.0
d. 0.0 < P{E} < 1.0

	c

	28.
	The odds of and event are defined as: 
a. the probability that an event occurs
b. No. of outcomes in the event  /  No. of outcomes in sample space
c. No. of outcomes in sample space  /  No. of outcomes in the event
d. the probability that an event occurs / the probability that an event doesn’t occur

	d

	29.
	The number of combinations taking 4 out of 6 elements are
a. = 6 * 5 * 4 * 3 * 2 * 1 
b. = 6 !  /  4!  
c. = 6 !  –  2!  /  4! 
d. = 4 !  /  6!  –  2!

	NO cor. ans

	30.
	Which of the following is not a condition of the Binomial distribution?
a. There are n identical trials
b. the probabilities of all outcomes are the same
c. the trials are independent
d. each trial has only two outcomes. 

	NO cor. ans


· IMPORTANT – your answers have to be on the ANSWER SHEET !!! 
(= the LAST PAGE of this exam paper)
Information you give / check in the questions DO NOT count as valid answers!

II  Calculation Problems  
	31.
	Compute  for  xi  =  1,  2,  3,  …..      



(2  points)

        i =6  
          (  xi2  =      
           i=2

a. 66
b. 77
c. 88
d. 99

	NO cor. ans.

	32.
	Compute  for  xi  =  1,  2,  3,  …..



      
(2  points)

       i =4  
          ((  xi)3  =      
          i=2

a. 729
b. 625
c. 144
d. 864

	a

	33.
	Given  the  following  data  find  the  arithmetic  mean.  
(2  points)
1  1.5  2  2  2.5  3  3.4  4.1  4.2  4.3  5  5.7  5.8  5.9  6  6.7  6.9  7  7.8  8.2
a. 4.56
b. 4.65
c. 3.8
d.  5.2

	b

	34.
	Suppose a Business School has 240 students in two majors. 
(2  points)
–  80 male Accounting majors 

- 40 female Marketing majors
- There are 120 males in the school
a. Female Accounting students are 33.3 % of all students in the school
b. male Marketing students are 33.3 % of all students in the school
c. 2/3 of the students are male
d.  2/3 of the students are female

	a

	35.
	The number of possible sequences of 6 books in a shelf is 

(2  points)
a. 60
b. 600
c. 660
d. 720

	d

	36.
	Suppose you want to select 4 persons from a group of 10. 

(2  points)
How many ways can they be selected
a. 5400
b. 540
c. 210
d.  120

	c

	37.
	You have 7 balls, numbered 1, 2, ... 7. How many ways to select 3 balls?   (2  points)
a. 35

b. 53
c. 17
d. 12

	a

	38.
	What is the probability of 5 heads in 8 tosses of a coin?

(2  points)
a. 0.8172
b. 0.2187

c. 0.1234
d. 8.5%

	b

	39.
	The probability that a student receives an A in an exam is 0.4. 
(2  points)
What is the probability that 4 out of 10 students receive an A?
a. 0.2007
b. 0.1115
c. 0.0410
d. 0.2508

	d

	40.
	A shopkeeper knows that normally every forth customer buys something.  (2  points)
What’s the probability that of the 7 customers currently in the shop 3 will purchase something?
a. 0.1730
b. 0.1984
c. 0.4711
d. 0.2008

	a


· IMPORTANT – your answers have to be on the ANSWER SHEET !!! 
(= the LAST PAGE of this exam paper)
Information you give / check in the questions DO NOT count as valid answers!

Lecturer  P  collects  data  from  two  samples  of  students  (from  2  different  classes)  describing  the  distance  between  their  accommodation  and  the  university: 
	class  A
	class  B
	

	1
	1
	

	2
	2
	

	3
	3
	

	1
	3
	

	3
	2
	

	2
	1
	

	52
	5
	

	8
	8
	

	
	
	


	41.
	The mean of class A
(3 points)
a. is two times the mean of class B
b. is three times the mean of class B
c. is four times the mean of class B
d. is half the mean of class B

	b

	42.
	Compute the Standard Deviation of both classes, they are (rounded): 
(4 points)
a. A: 13.8 and B: 2.1 
b. A: 2.1 and B: 4.2
c. A: 17.5 and B: 2.1
d. A: 18 and B: 3.5

	c

	43.
	Compute the Standard Deviation of both classes, they are (rounded): 
(3 points)
a. A: 1.8 and B: 1.1 
b. A: 1.9 and B: 0.7
c. A: 2.0 and B: 0.6
d. A: 2.1 and B: 0.5

	b


Binomial Distribution

Values of the Probability Function for given values of n, x and p
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